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https://andrewcbaker.netlify.app/did#1
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bacondecomp

 

Use example_data.dta, clear ssc install 

bacondecomp 

 

// regression (naive) reghdfe y treat, 

Absorb(id t) 

 

// bacon-decomposition xtset id t 

Bacondecomp y treat, ddetail 

 

Graph export becondecomp_example.png, width(2000) replace. 

 

∗

“reghdfe y treat, absorb(id t) vce(r)” 
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 βˆ

https://t.co/4kDNxTdkCc?amp=1
https://t.co/4kDNxTdkCc?amp=1
https://andrewcbaker.netlify.app/2019/09/25/difference-in-differences-methodology
https://andrewcbaker.netlify.app/did
https://www.stata.com/meeting/chicago19/slides/chicago19_Goodman-Bacon.pdf?fbclid=IwAR1-JkhuKKWa_fyFZMVBpIYOma0FTi48da7IHGZMFj0KnC_ASK2L1-lhu4c

